

ЈУН2:



1) a) $\{A_n\}_{n \in \mathbb{N}}$? $\sup(\bigcup_{n \in \mathbb{N}} A_n) = \sup\{\sup A_n \mid n \in \mathbb{N}\}$?

*: Нека је $S = \sup\{\sup A_n \mid n \in \mathbb{N}\}$.

$\Rightarrow \forall n \in \mathbb{N} \sup A_n \leq S$ и $\forall \epsilon > 0 \exists n \in \mathbb{N} S < \sup A_n - \epsilon/2$

$\forall n \in \mathbb{N} \forall a \in A_n a \leq \sup A_n$ и $\forall n \in \mathbb{N} \forall \epsilon > 0 \exists a \in A_n \sup A_n < a - \epsilon/2$

$\Rightarrow \forall n \in \mathbb{N} \forall a \in A_n a \leq S$ и $\forall \epsilon > 0 \exists n \in \mathbb{N} \exists a \in A_n S < a - \epsilon$

$\Rightarrow \forall a \in \bigcup_{n \in \mathbb{N}} A_n a \leq S$ и $\forall \epsilon > 0 \exists a \in \bigcup_{n \in \mathbb{N}} A_n S < a - \epsilon$

$\Rightarrow S = \sup(\bigcup_{n \in \mathbb{N}} A_n)$

б) $A_n = \{\sqrt{m+n} - \sqrt{m-n} \mid m \geq n\}$, $n \in \mathbb{N}$; $\sup A_n$, $\inf A_n$, $\sup \bigcup_{n \in \mathbb{N}} A_n$?

$n \in \mathbb{N}$ функција

$f_n(x) = \sqrt{x+n} - \sqrt{x-n} = (x+n)^{1/2} - (x-n)^{1/2}$, $x \geq n$

$f'_n(x) = \frac{1}{2}(x+n)^{-1/2} - \frac{1}{2}(x-n)^{-1/2}$

$x+n > x-n$, $\frac{1}{2n} - 1 \leq 0 \Rightarrow f'_n \leq 0 \Rightarrow f_n \downarrow x \geq n$

$\Rightarrow \sup A_n = \max A_n = f_n(n) = \sqrt{2n}$

$\inf A_n = \lim_{x \rightarrow +\infty} f_n(x) = \lim_{x \rightarrow +\infty} (x+n)^{1/2} - (x-n)^{1/2} = \lim_{x \rightarrow +\infty} x^{1/2} \left(\left(1 + \frac{n}{x}\right)^{1/2} - \left(1 - \frac{n}{x}\right)^{1/2} \right)$

$= \lim_{x \rightarrow +\infty} x^{1/2} \left(1 + \frac{1}{2} \cdot \frac{n}{x} + o\left(\frac{1}{x}\right) - \left(1 - \frac{1}{2} \cdot \frac{n}{x} + o\left(\frac{1}{x}\right)\right) \right)$

$= \lim_{x \rightarrow +\infty} \frac{2}{x^{1-1/2}} + o\left(\frac{1}{x^{1-1/2}}\right) = \begin{cases} 0 & , n > 1 \\ 2 & , n = 1 \end{cases}$

за $n > 1 \inf A_n = 0$, \min се не постоје

$n = 1 \inf A_n = \min A_n = 2$

$\sup(\bigcup_{n \in \mathbb{N}} A_n) \stackrel{a)}{=} \sup\{\sup A_n \mid n \in \mathbb{N}\} = \sup\{(2n)^{1/2} \mid n \in \mathbb{N}\}$

$x \geq 1: f(x) = e^{\frac{1}{2} \ln 2x}$, $f'(x) = e^{\frac{1}{2} \ln 2x} \cdot \left(\frac{1}{2x} - \frac{\ln 2x}{x^2} \right) = e^{\frac{1}{2} \ln 2x} \frac{1 - \ln 2x}{2x^2}$

знак f' зависи од $1 - \ln 2x$ за $x \geq 1$, $g(x) = -\frac{1}{x} < 0$, $g \downarrow$, $g(1) = 1 > 0$, $g(2) < 0$

закле $f' < 0$ за $x \geq 2 \Rightarrow f \downarrow$ за $x \geq 2$ $f(2) = 2$, $f(1) = 2$

$\Rightarrow \sup(\bigcup_{n \in \mathbb{N}} A_n) = 2 = \max(\bigcup_{n \in \mathbb{N}} A_n)$

2) $f: (0, +\infty) \rightarrow \mathbb{R}$, $f(t) = \begin{cases} \frac{\cos^2 t}{t} & , t \geq \frac{\pi}{2} \\ 0 & , 0 < t < \frac{\pi}{2} \end{cases}$. $F: (0, +\infty) \rightarrow \mathbb{R}$, $F(x) = \int_0^x f(t) dt$

F рачи неур на $(0, +\infty)$?

f неур? $\lim_{t \rightarrow \frac{\pi}{2}^-} f(t) = 0 = f(\frac{\pi}{2}) = \lim_{t \rightarrow \frac{\pi}{2}^+} f(t) \Rightarrow f$ неур на $(0, +\infty)$

$\Rightarrow F$ гуф на $(0, +\infty)$ и $F'(x) = f(x)$

$x \geq \frac{\pi}{2}$: $|f(x)| = \frac{\cos^2 x}{x} \leq \frac{1}{x} \leq \frac{1}{\frac{\pi}{2}} = \frac{2}{\pi}$

$x \in (0, \frac{\pi}{2})$: $|f(x)| = 0 \leq \frac{2}{\pi}$

$|F(x) - F(x_0)| = |F'(\xi)| \cdot |x - x_0| = |f(\xi)| \cdot |x - x_0| \leq \frac{2}{\pi} |x - x_0|$

Лаирам
 $\xi \in (x, x_0)$

$\Rightarrow F$ Лиувилска на $(0, +\infty)$

$\Rightarrow F$ рачи неур на $(0, +\infty)$.

$$\boxed{3} \quad I(a) = \int_{-\infty}^{+\infty} \frac{\arctg e^x}{e^{ax} + e^{-ax}} dx = ? \text{ , конв?}$$

Hint: $\arctg t + \arctg \frac{1}{t} = \frac{\pi}{2} \oplus, t > 0$

$$h(t) = \arctg t + \arctg \frac{1}{t} \Rightarrow h'(t) = \frac{1}{1+t^2} + \frac{1}{1+\frac{1}{t^2}} \cdot \left(-\frac{1}{t^2}\right) = 0 \Rightarrow h = \text{const}$$

$$h\left(\frac{1}{1}\right) = \frac{\pi}{4} + \frac{\pi}{4} = \frac{\pi}{2}$$

$$\Rightarrow h(t) = \frac{\pi}{2}, t > 0.$$

$a \neq 0$:

$$I(a) = \int_{-\infty}^{+\infty} \frac{\arctg e^x}{e^{ax} + e^{-ax}} dx = \int_0^{+\infty} \frac{\arctg e^x}{e^{ax} + e^{-ax}} dx + \int_{-\infty}^0 \frac{\arctg e^x}{e^{ax} + e^{-ax}} dx =$$

$$= \int_0^{+\infty} \frac{\arctg e^x}{e^{ax} + e^{-ax}} dx + \int_0^{+\infty} \frac{\arctg e^{-y}}{e^{-ay} + e^{ay}} dy = \int_0^{+\infty} \frac{\arctg e^x + \arctg e^{-x}}{e^{ax} + e^{-ax}} dx$$

смена $y = -x$
 $dy = -dx$

$$= \int_0^{+\infty} \frac{\arctg e^x + \arctg \frac{1}{e^x}}{e^{ax} + e^{-ax}} dx \stackrel{\oplus}{=} \int_0^{+\infty} \frac{\frac{\pi}{2}}{e^{ax} + e^{-ax}} dx =$$

$$= \frac{\pi}{2} \int_0^{+\infty} \frac{e^{ax} dx}{e^{2ax} + 1} = \int_1^{+\infty} \frac{du}{u^2 + 1} \quad \begin{matrix} \text{Г} \\ \text{у} \end{matrix} \begin{matrix} \text{зависимости} \\ \text{от} \end{matrix} \text{sgn } a$$

имамо грубіажије границе
новеј интеграла

$$\stackrel{\ominus}{=} \text{1}^\circ a > 0 \quad \frac{\pi}{2a} \int_1^{+\infty} \frac{du}{u^2 + 1} = \frac{\pi}{2a} \cdot \arctg u \Big|_1^{+\infty} = \frac{\pi^2}{8a}$$

$$\stackrel{\ominus}{=} \text{2}^\circ a < 0 \quad \frac{\pi}{2a} \int_1^0 \frac{du}{u^2 + 1} = \frac{\pi}{2a} \cdot \arctg u \Big|_1^0 = -\frac{\pi^2}{8a}$$

$$\Rightarrow a \neq 0 \quad I(a) \text{ конв } \text{ и } I(a) = \frac{\pi^2}{8|a|}$$

$$a = 0: \quad I(0) = \int_{-\infty}^{+\infty} \frac{\arctg e^x}{2} dx, \quad \arctg e^x \rightarrow \frac{\pi}{2}, x \rightarrow +\infty$$

→ I(0) губеріра!

$$\boxed{4} \quad \text{a) } a_{n+1} = \frac{a_n^2}{\sqrt{e^{a_n^2} - 1}}, \quad a_1 = 1 \quad \text{конв?} \quad \lim_{n \rightarrow \infty} a_n = ?$$

$$a_{n+1} = \frac{(a_n^2)^{\geq 0}}{(\sqrt{e^{a_n^2} - 1})^{\geq 0}} \geq 0 \text{ ако је нуз годно гед, њј. ако } \sqrt{e^{a_n^2} - 1} \neq 0 \text{ њј. } a_n \neq 0.$$

БН: $a_1 = 1 > 0$.

ИХ: $a_n > 0 \Rightarrow e^{a_n^2} - 1 > 0 \Rightarrow a_{n+1} > 0$.

$$\Rightarrow a_n > 0 \quad \forall n \in \mathbb{N}$$

монотонность?

$$a_{n+1} \square a_n$$

$$\frac{a_n^2}{\sqrt{e^{a_n^2}-1}} \square a_n \quad / \cdot \frac{\sqrt{e^{a_n^2}-1}}{a_n}$$

$$a_n \square \sqrt{e^{a_n^2}-1} \quad / \wedge^2$$

$$a_n^2 \square e^{a_n^2}-1$$

$$\left[\begin{aligned} &g(t) = e^t - 1 - t, \quad g'(t) = e^t - 1 > 0, \quad t > 0 \\ &\Rightarrow g \uparrow \text{ и } g(0) = 0 \Rightarrow g(t) > 0, \quad t > 0 \end{aligned} \right]$$

$$\Rightarrow t < e^t - 1, \quad t > 0$$

$$\Rightarrow a_n^2 < e^{a_n^2} - 1 \Rightarrow a_{n+1} < a_n \Rightarrow a_n \downarrow \text{ и } a_n > 0$$

ТМК $\Rightarrow a_n$ конвертира

$$a = \lim_{n \rightarrow +\infty} a_n = \lim_{n \rightarrow +\infty} a_{n+1} = \lim_{n \rightarrow +\infty} \frac{a_n^2}{\sqrt{e^{a_n^2}-1}} = \frac{a^2}{\sqrt{e^{a^2}-1}} \quad \lim_{n \rightarrow +\infty} a_n \geq 0$$

$$\Rightarrow a^2 = e^{a^2} - 1 \quad \text{и } \text{☺} \Rightarrow \underline{\underline{a=0}}$$

$$\delta) a_n^2 \sim \frac{c}{n}, \quad n \rightarrow +\infty; \quad c = ?$$

$$\Rightarrow 1 = \lim_{n \rightarrow +\infty} \frac{a_n^2}{\frac{c}{n}} = \frac{1}{c} \lim_{n \rightarrow +\infty} a_n^2 \cdot n = \frac{1}{c} \cdot \lim_{n \rightarrow +\infty} \frac{n}{\frac{1}{a_n^2}} \quad \text{ЛЛТ} \quad \left(\frac{1}{a_n^2} \rightarrow +\infty \right)$$

$$= \frac{1}{c} \lim_{n \rightarrow +\infty} \frac{1}{\frac{1}{a_{n+1}^2} - \frac{1}{a_n^2}} = \frac{1}{c} \lim_{n \rightarrow +\infty} \frac{1}{\frac{e^{a_{n+1}^2}-1}{a_{n+1}^4} - \frac{1}{a_n^2}} = \frac{1}{c} \lim_{n \rightarrow +\infty} \frac{a_n^4}{e^{a_n^2}-1 - a_n^2} =$$

$$\frac{1}{c} \lim_{n \rightarrow +\infty} \frac{a_n^4}{\frac{1}{2} + o(1)} = \frac{1}{c} \cdot 2$$

$$\Rightarrow \boxed{c=2} \Rightarrow a_n \sim \frac{\sqrt{2}}{\sqrt{n}}, \quad n \rightarrow +\infty \Rightarrow a_n \sim \frac{\sqrt{2}}{\sqrt{n}}, \quad n \rightarrow +\infty$$

$$b) \sum_{n=1}^{\infty} (-1)^n \arctg \frac{1}{\sqrt{n}} \cdot \sin a_n \quad \text{конт?}$$

$$\sin t \sim t, \quad t \rightarrow 0$$

$$\arctg t \sim t, \quad t \rightarrow 0$$

$$0 < a_n < 1 \Rightarrow 0 < \sin a_n < \sin 1$$

$$\Rightarrow |(-1)^n \arctg \frac{1}{\sqrt{n}} \cdot \sin a_n| = \arctg \frac{1}{\sqrt{n}} \cdot \sin a_n \sim \frac{1}{\sqrt{n}} \cdot a_n \sim \frac{1}{\sqrt{n}} \cdot \frac{\sqrt{2}}{\sqrt{n}} \sim \frac{\sqrt{2}}{n}, \quad n \rightarrow \infty$$

$$\sum \frac{1}{n} \text{ г.б.} \Rightarrow \sum_{n=1}^{\infty} |(-1)^n \arctg \frac{1}{\sqrt{n}} \cdot \sin a_n| \text{ г.б.}$$

$$a_n \downarrow \text{ и } a_n \rightarrow 0 \Rightarrow \sin a_n \downarrow \text{ и } \sin a_n \rightarrow 0$$

$$\arctg \frac{1}{\sqrt{n}} \downarrow$$

$$\Rightarrow \lim_{n \rightarrow +\infty} \arctg \frac{1}{\sqrt{n}} \cdot \sin a_n = 0 \quad \text{и} \quad \arctg \frac{1}{\sqrt{n}} \cdot \sin a_n \downarrow$$

найдити

$$\Rightarrow \sum (-1)^n \arctg \frac{1}{\sqrt{n}} \sin a_n \text{ конвертира}$$